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B.Ed. DEGREE (TWO YEAR) EXAMINATION,
MAY/JUNE 2020

(For the candidates admitted during the academic year
2016-2017 onwards)

Second Year
PEDAGOGY OF MATHEMATICS

Time : 1% Hours Maximum Marks : 35

Answer any FIVE questions.
(5x7=35)

1. A={,de g h} WHmID B={a, e, c, h} erafléd
n(A - B) = n(A) - n(A N B) creuang Fflumrés.
Let A=1{b,de g,h} and B={a,e,c,h} verify that
n(A-B)=n(A)-n(AnB).

2. &MEGS:

(@) /63175 +/28
() 2340 +33/625 — 43/320 .

Simplify :

(a) /63 —175 ++/28
(®) 2340 + 33/625 — 43/320 .

3. ©wraflar gHCuTmsw euwdear @MLLBIGCETH TN
Fal lg@rmed enl_LiLg) GLoreien @ e _ment(H&EhdHE (PHensd
ULmSLD Seuaier 4 aTOSERGEG GBS IS
Qumss HeoLlugnés@s Fob ealed euflear sHGCLTMSW
UGS SHTETS.

The product of Kumarn’s age two years ago and his age

four years from now is one more then twice his present
age. What is his present age?



L

3 Qe.iS. <oypaperer eulLglemr enwwsHOHHE 5 GF.LS.
Qgrepaveller 2 arar Ljemaflufled(mbgl eul L SHH&EE euenguili’ L
QarHCsTLiq6m Barld &meims.
Find the length of the tangent drawn from a point whose
distance from the centre of a circle is 5 cm and radius of
the circle is 3 cm.
LIS HTETs (cos6° +sin45" + sin30°) sin 90° — cos 45°
+cos60°.
Find the values (cos 6° +sin45° + sin 80“) sin 90° — cos 45°
+cos60°.
@@ sarg Cscuaissler Bearbd 7.5 1S, Sseb 3 15, 2 wpb 5 15
crefled g CmggL LFliL] HMID LSSD LIFLmLS STets.
Find the TSA and LSA of a cuboid whose length, breadth
and height are 7.5 m, 3 m and 5 m respectively.
Epsaramid sroysailar @bl <jere) 24 erafld x e
LIS STesms.
Wfley @evL_Geuafl :  0-10 10-20 20-30 30-40 40-50
1Bl 0l euegr : 6 24 x 16 9

The median of the following data 24. Find the value of ‘x’
Class interval (C.I.): 0-10 10-20 20-30 30-40 40-50

Frequency (/) : 6 24 X 16 9

2 QP.No. : B 1650



